SGJ DAV SEN SEC PUBLIC SCHOOL, HARIPURA
Class : 5th ( Assignment)
Date : 30-08-25

Instructions :-1. Do all the work in fair notebook day-wise.
2. Write in neat and clean handwriting.
English
1.Write a letter to father for money (5 Marks)
Examination Hall Fazilka City
30 August 2025
Dear Father

| am thrilled to share with you that | have been promoted to Class 5th with very good
marks. Our new classes will start soon and | need some new books. Please send me
Rs 2500 as soon as possible so that | can buy the necessary books.

Best regards to you and my mother. Lots of love to my younger brother.

Your loving son

[Your Name]

Q.2Why were the children surprised when Benny returned their things? (2 Marks)

Ans. The children were surprised because they thought that he wanted to keep them
forever.

Q.3 Why were the officials of the English channel association shocked to see Janaki? (2
Marks)

Ans. They were shocked to see Janki because she was a physically challenged girl and
was ready to swim the English channel.

Q.4What were the difficulties that Janki faced while swimming across the channel? (2
Marks)

Ans. While swimming, the salty water entered in her mouth .It made her ill every time.

Hindi
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Maths
Q1. Arrange in columns and subtract: (2marks)
71 .084 from 90.04
Solution: 90.04
71.084
18.956
Q2. Arrange in columns and subtract. (2marks)

28 .56 from 36 . 486



Q3. Two angles of a triangle are 100° and 55° respectively. Find the third angle.
(83marks)

Solution:  Ist angle = 100°
2nd angle = 55°
Sum of angles in a triangle = 180°.
Third angle = 180° - (100° + 55°) = 180° - 155° = 25°.

Q4. Two angles of a triangle are 110° and 60° respectively. Find the third angle.
(3marks)

Q5. The total number of men, women and children in the state is 93, 86, 493. If the
number of men is 26,38,755 and that of women is 25,29,431, find the number of
children. (5marks)

Solution: Total = 93,86,493
Men =  26,38,755
Women = 25,29,431
Children = 93,86,493 - (26,38,755 + 25,29,431)
=93,86,493 - 51,68,186
= 42, 18,307

Q6.In an election, the winning candidates got 6,28,496 votesand his rival got 4,56,298
votes. If 3,846 votes were declared invalid, what was the total number of votes pulled?

(5marks)

Science

Q1 Which type of joint helps a cricket bowler rotate his arm while bowling? Why is this

joint important? ( 2 marks)

Answer:- Ball-and-socket joint (in the shoulder). It allows movement in all directions, so

the bowler can swing his arm fully.

Q2 Why does a money plant grow from stem cuttings? (2 marks)
Answer:-The stem has nodes that produce roots when placed in soil or water.
This is a form of vegetative reproduction.

Q3 How does chlorophyll help plants to prepare their own food? (2 marks)



Answer:-1 Chlorophyll absorbs sunlight.
2. It uses this energy to change water and carbon dioxide into food (glucose).
Q4 How do cotyledons help a baby plant to grow in the beginning? (2 marks)

Answer:-Cotyledons store food inside the seed. They give energy to the baby plant until
true leaves appear.

Q5 How do forests help in controlling floods and soil erosion? (3 marks)
Answer:- 1 Roots of trees hold the soil tightly.
2 They stop rainwater from washing the soil away.
3 They reduce the speed of flowing water, preventing flood
Social Science
Q1. Explain Operation Flood and its role in India's White Revolution. (3marks)

Answer. In olden times the quality of animals and their feed was not good. As a result,
the production of milk was very low. Due to low production of milk there was scarcity of
milk in rural and urban areas. Dr Varghese Kurian introduced Operation Flood. It was
related to milk production and marketing. Operation Flood boosted the production of
milk. That's why Operation Flood is also called the White Revolution.

Q2. What are the reasons behind the change of occupations in rural areas? (3marks)

Answer. A major portion of a village population was dependent on agriculture or
non-agricultural activities. But in recent times the condition has changed. It has become
very difficult for many farmers to make a living from agriculture due to division of land
among family members, low productivity and low earnings. The opportunities for earning
from non-agricultural activities have also decreased in rural areas. How many villagers
started moving towards cities and towns in search of other occupations.

Q3. List some occupations that do not require professional qualifications. (3marks)
Answer. We also need the services of non-professionals. They are-

(A) Skilled labor- tailors, carpenters, plumbers.

(B) Semi skilled people like bakers, cleaners, washermen.

(C) Unskilled labor- workers at construction sites, coolies etc.

Q4. Explain what is meant by the likes and dislikes of a family. (2 marks)



Answer. In each family, the members have their own likes and dislikes. It may be a
special dish, dress, music or television channel. These likes and dislikes influence the
life of a family. That's why it is important to share the responsibilities in a family.



